
gFÂ & II : go¥g¿Î¤ Âw‹ gFÂ¤ nj®Î

     (v£lh« tF¥ò khzt®fS¡fhdJ)

neu« : 90 ãäl§fŸ      bkh¤j kÂ¥bg©fŸ : 90

nj®Î vGJgt®fS¡fhd éÂKiwfŸ
édh üš bjhF¥ig¤ Âw¥gj‰F K‹ bfhL¡f¥
g£LŸs éÂKiwfis¡ ftdkhf go¡fÎ«.

1. éilfis gFÂ - I nj®é‰F tH§f¥g£l OMR

éil¤jhënyna F¿¡f nt©L«.

2. Ï¤nj®éš 90 édh¡fŸ cŸsd. mid¤Â‰F«
f£lha« éilaë¡f¥gl nt©L«.

3. édh v©fŸ 91-110 fâj«, 111-145  m¿éaš,
146-180  r_f m¿éaš ghl§fis¢ rh®ªjit.

4. x›bthU édhé‰F« bfhL¡f¥g£LŸs kh‰W
éilfëèUªJ rçahd éilæid¡ f©l¿ªJ
mij OMR éil¤jhëš  cça  t£l¤Âš fU¥ò
ãw ghšghæ©£ ngdhédhš Ô£l nt©L«. ‘✓’,

‘✕’ M»a F¿pLfis OMR éil¤jhëš brŒa¡
TlhJ .

5. Ïªj édh¤jhS¡F xJ¡f¥g£LŸs fhy msÎ
äf¡ Fiwthdjhf ÏU¥gjhš vªj xU édhé‰F«
TLjš neu¤ij¢ brytê¡fhkš neu¤ij äf¢
Áwªj Kiwæš ga‹gL¤jÎ«.

6. VjhtJ xU édhé‰F  éil bjçaéšiy v‹whš
mÂnyna fhyéua« brŒahkš mL¤j édhé‰F
bršyÎ«. neuäUªjhš Kjèš é£L¢br‹w
édh¡fis Ka‰Á brŒaÎ«.

7. éilfis¡f©l¿a nk‰bfhŸS« têKiwfis
édh üšbjhF¥Ãš v§F nt©LkhdhY«  brŒJ
bfhŸsyh«.  OMR – éil¤jhënyh mšyJ
jå¤jhënyh brŒa¡TlhJ.

8. x›bthU rçahd éil¡F« xU kÂ¥bg©
tH§f¥gL«.

9. nj®Î Koªj ÃwF OMR éil¤jhis k£L«
miw¡f©fhâ¥ghsçl« bfhL¡fÎ«. édhüš
bjhF¥ig  vL¤J¢ bršyyh«.

10.VnjD« foj¤ bjhl®òbfhŸs nt©oa Nœãiy
V‰go‹ VG Ïy¡f gÂbt©iz¤ jtwhkš
F¿¥ÃlÎ«.

g¡f¤ij¤ ÂU¥Ã¥ gÂyë¡f¤ bjhl§fÎ«.

PART - II : SCHOLASTIC APTITUDE TEST

(For Students of Class VIII)

Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
open the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part – I.

2. There are 90 questions in this test. All are
compulsory.

3. The question numbers 91 to 110 belong to
Mathematics, 111 to 145 pertain to Science and
146 to 180 are on Social Science subjects.

4. Choose the correct answer from the options given

for each question and darken the corresponding

circle with black ball point pen in the OMR Answer

Sheet.  Do not mark ‘✓’ or ‘✕’in the OMR Sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet / loose paper.

8. Each correct answer will be awarded One Mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

10.Quote your seven digit Roll Number without fail
for any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

1

£vöÁs
Roll No.
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 Pou® / MATHEMATICS

91. xU thfd X£Le® 3.2 kâ neu¤Âš
135.04 ».Û bjhiyit¡ fl¡»wh®
våš thfd¤Â‹ ntf« :

(1) 422 ».Û. / kâ

(2) 4.22 ».Û. / kâ

(3) 42.2 ».Û. / kâ

(4) 42 ».Û. / kâ

92. 4x2+6xy  I bgWtj‰F 3x2+xy+3y2

cl‹ vij¡ T£l nt©L« ?

(1) x2+5xy−3y2

(2) x2−5xy−3y2

(3) x2+5xy+3y2

(4) x2+6xy−3y2

93. xU r¡fu« 3 édhofëš 48 Kiw
RHš»‹wJ våš 30 édhofëš
m¢r¡fu« RHY« v©â¡if :

(1) 480 (2) 300

(3) 100 (4) 360

94. bfhL¡f¥g£l gl¤Âš “x” -Ï‹
msÎ (AB k‰W« CD Ïiz) :

(1) 458 (2) 508

(3) 608 (4) 758

91. A motorist covers a distance of 135.04 km

in 3.2 hours.  The speed of the motor is :

(1) 422 km/hour

(2) 4.22 km/hour

(3) 42.2 km/hour

(4) 42 km/hour

92. What should be added to 3x2+xy+3y2  to

obtain 4x2+6xy ?

(1) x2+5xy−3y2

(2) x2−5xy−3y2

(3) x2+5xy+3y2

(4) x2+6xy−3y2

93. A wheel makes 48 revolutions in 3 seconds.

The number of revolutions in 30 seconds

is :

(1) 480 (2) 300

(3) 100 (4) 360

94. The measure of “x” in the figure is (AB

and CD are parallel) :

(1) 458 (2) 508

(3) 608 (4) 758
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95. 3P+4=25 våš P –Ï‹ kÂ¥ò  :

(1) 4 (2) 3

(3) 5 (4) 7

96. mL¤jL¤J tU« _‹W KG
v©fë‹ TLjš 30 våš Ïilna
mikÍ« v© :

(1) 10 (2) 11

(3) 12 (4) 9

97. xU F¿¥Ã£l bjhifahdJ 8% t£o
Åj¤Âš 5 M©Lfëš `  10,080
M»wJ våš mrš :

(1) ` 6,000 (2) ` 6,600

(3) ` 6,800 (4) ` 7,200

98. xU K¡nfhz¤Â‹ vªj Ïu©L
g¡f§fë‹ TLjY« _‹whtJ
g¡f¤ij él __________ ÏU¡F«.

(1) Fiwthf

(2) mÂfkhf

(3) rk«

(4) VJäšiy

99.
112

528
 -‹ vëa toéš cŸs gFÂæ‹

Ïy¡f§fë‹ TLjš :

(1) 4 (2) 5

(3) 6 (4) 7

95. If  3P+4=25 then P is :

(1) 4 (2) 3

(3) 5 (4) 7

96. If the sum of three consecutive integer is

30, then the middle number is :

(1) 10 (2) 11

(3) 12 (4) 9

97. A certain sum of money amounts to

` 10,080 in 5 years at 8%. The Principal

amount is :

(1) ` 6,000 (2) ` 6,600

(3) ` 6,800 (4) ` 7,200

98. The sum of the lengths of any two sides of

a triangle is ___________ than the third

side.

(1) smaller

(2) greater

(3) equal

(4) None

99. The sum of the digits of the denominator

in the simplest form of  
112

528
 :

(1) 4 (2) 5

(3) 6 (4) 7
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100. 7-I X® Ïy¡fkhf¡ bfh©l <çy¡f
v©fë‹ v©â¡if :

(1) 16 (2) 18

(3) 19 (4) 17

101. (10 Û.2  − 5 Û.) I (2 Û. − 1) Mš
tF¡f »il¥gJ :

(1) 5 Û. (2) 10 Û.

(3) 2 Û. (4) 1 Û.

102.
6

11

−

  v‹w v©âèUªJ vªj

v©âid¡ fê¤jhš 
8

9
 »il¡F« ?

(1)
34

99
(2)

142

99

−

(3)
142

99
(4)

34

99

−

103. ãHè£l gFÂæ‹ gu¥gsÎ (π=3.14) :

(1) 100 br.Û.2

(2) 78.5 br.Û.2

(3) 21.5 br.Û.2

(4) 40 br.Û.2

100. The number of 2 digit numbers containing

a number 7 is :

(1) 16 (2) 18

(3) 19 (4) 17

101. Dividing (10 m2−5 m) by (2 m−1) is :

(1) 5 m (2) 10 m

(3) 2 m (4) 1 m

102. The number which is subtracted from 
6

11

−

to get 
8

9
 is :

(1)
34

99
(2)

142

99

−

(3)
142

99
(4)

34

99

−

103. The area of the shaded part is (π=3.14) :

(1) 100 cm2

(2) 78.5 cm2

(3) 21.5 cm2

(4) 40 cm2
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104. Ã‹tUtdt‰iw¥ bghU¤Jf.

 (a) (2x+3)(2x−3) (i) −10x3 y+6xy

 (b) 5x(4xy−4) (ii) −12y3

 (c) −2xy(5x2−3) (iii) 4x2−9

 (d) 4y2×(−3y) (iv) 20x2  y−20x

(1) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(2) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(4) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

105. 9982 -‹ kÂ¥ò :

(1) 96004 (2) 99660004

(3) 996004 (4) 100000

106. xU br›tf tot ãy¤Â‹ gu¥gsÎ
(a2−b2) rJu myFfŸ k‰W« mfy«
(a−b) myFfŸ våš, mj‹ Ús« :

(1) (a−b) (2) (a+b)

(3) (a2−b) (4) (a2+b2)

107. 3 eg®fëš 2 eg®fŸ k£L« ne®Kf¤
nj®éš nj®Î brŒa¥gLt®. Ïj‹
rjÅj« :

(1) 66
2

3
% (2) 66

4

3
%

(3) 66
1

2
% (4) 66

4

5
%

104. Match the following :

 (a) (2x+3)(2x−3) (i) −10x3  y+6xy

 (b) 5x(4xy−4) (ii) −12y3

 (c) −2xy(5x2−3) (iii) 4x2−9

 (d) 4y2×(−3y) (iv) 20x2 y−20x

(1) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(2) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(4) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

105. The value of 9982 :

(1) 96004 (2) 99660004

(3) 996004 (4) 100000

106. If the area of a rectangular land is (a2−b2)

square units whose breadth is  (a−b) unit,

then its length is :

(1) (a−b) (2) (a+b)

(3) (a2−b) (4) (a2+b2)

107. Only 2 persons out of 3 will be selected in

the interview. The percentage is :

(1) 66
2

3
% (2) 66

4

3
%

(3) 66
1

2
% (4) 66

4

5
%
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108. X® ÏU r¡fu thfd¤Â‹ éiy
2 M©LfS¡F K‹ ` 70,000 Mf
ÏUªjJ. mj‹ kÂ¥ò M©LnjhW«
4% Åj« Fiw»wJ. våš, mj‹
j‰nghija kÂ¥ò :

(1) ` 64,512 (2) ` 45,612

(3) ` 76,852 (4) ` 75,000

109. 20 mo ÚsKŸs Vâ, jiuæèUªJ
16 mo cau¤Âš Rtçid¤ bjhLkhW
rhŒ¤J it¡f¥g£LŸsJ våš,
RtçèUªJ Vâæ‹ mo¥gFÂ-
ahdJ v›tsÎ öu¤Âš cŸsJ?

(1) 24 mo (2) 10 mo

(3) 14 mo (4) 12 mo

110. jªijæ‹ taJ kfë‹ taÂid¥
nghš 5 kl§fhf cŸsJ.
2 M©LfS¡F¥ Ã‹d®, jªijæ‹
taJ, kfë‹ taij¥ nghš 4 kl§F
våš, kfë‹ j‰nghija taJ :

(1) 3 M©LfŸ

(2) 6 M©LfŸ

(3) 40 M©LfŸ

(4) 30 M©LfŸ

108. The value of a motorcycle 2 years ago was

` 70,000.  It depreciates at the rate of 4%

per annum. The present value is :

(1) ` 64,512 (2) ` 45,612

(3) ` 76,852 (4) ` 75,000

109. A ladder of 20 feet leans against a wall at

height of 16 feet from the ground. How

far is the base of the ladder from the

wall ?

(1) 24 feet (2) 10 feet

(3) 14 feet (4) 12 feet

110. Father is five times as old as her daughter.

After 2 years, the father will be four times

as old as his daughter. The  present age of

the daughter is :

(1) 3 years

(2) 6 years

(3) 40 years

(4) 30 years
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111. 908 v‹gij nuoadhf kh‰Wf.

(1)
2

π

 nuoa‹

(2)
3

π

 nuoa‹

(3)
2

2

π

 nuoa‹

(4)
3

2

π

 nuoa‹

112. Úçaš mG¤Â vj‹ mo¥gilæš
Ïa§F»wJ?

(1) cuhŒÎ

(2) gu¥ò éir

(3) Âut§fë‹ gu¥ò éir

(4) gh°fš éÂ

113. nfhsf Mo x‹¿‹ tisÎ Mu«
30 br.Û. våš mj‹ Féa¤
bjhiyéid¡ fh©f.

(1) 15 br.Û. (2) 25 br.Û.

(3) 20 br.Û. (4) 10 br.Û.

114. ãy¡fh‰W k‰W« fl‰fh‰W M»a
ãfœÎfŸ cUthtj‰F fhuz« :

(1) bt¥g¢ryd«

(2) bt¥g¡fl¤jš

(3) bt¥g¡fÂ®Å¢R

(4) fhyãiy kh‰w«

111. Convert 908 into radian.

(1)
2

π

 radian

(2)
3

π

 radian

(3)
2

2

π

 radian

(4)
3

2

π

 radian

112. The hydraulic press works according to

__________.

(1) Friction

(2) Surface tension

(3) Buoyant force of liquid

(4) Pascal Law

113. Find the focal length when the radius of

curvature of a spherical mirror is 30 cm.

(1) 15 cm (2) 25 cm

(3) 20 cm (4) 10 cm

114. Formation of land and sea breeze is due

to :

(1) Convection

(2) Conduction

(3) Radiation

(4) Change in season

  AÔÂ¯À / SCIENCE
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115. bghU¤Jf.

(a) bt¥g (i) éšèa«
FLit »šg®£

(b) fnyhç (ii) r® n#«°
Û£l® Âth®

(c) ãiy (iii) M¥uAh«
ä‹fh£o bg‹d£

(d) j§f Ïiy (iv) Ãanu
ãiyä‹fh£o irk‹

yh¥yh°

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(2) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(3) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(4) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

116. xU cnyhf¤Â‹ j‹ bt¥g
V‰ò¤Âwå‹ kÂ¥ò 200 Jkg−1K−1.
2 ».». ãiwÍŸs cnyhf¤Â‹
bt¥gãiyia 1258C -èUªJ 3258C

-Mf ca®¤j¤ njit¥gL« bt¥g
M‰wè‹ kÂ¥ig¡ fh©f.

(1) 40000 J (2) 80000 J

(3) 8000 J (4) 2000 J

117. bghU¤Jf.

(a) 1  V¡f® (i) 3.28 mo

(b) 1 bA¡nl® (ii) 10.76 rJu
mo

(c) 1 Û£l® (iii) 4047 Û2

(d) 1 rJu Û£l® (iv) 2.47 V¡f®

(1) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(3) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(4) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

115. Match the following :

(a) Thermos Flask (i) William

Gilbert

(b) Calorimeter (ii) Sir James

Dewar

(c) Electroscope (iii) Abraham

Bennet

(d) Gold Leaf (iv) Pierre Simon

Electroscope Laplace

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(2) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(3) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(4) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

116. The specific heat capacity of a metal is

200 Jkg−1K−1.  Calculate the amount of

heat energy required to raise the

temperature of 2 kg of the metal from

1258C to 3258C.

(1) 40000 J (2) 80000 J

(3) 8000 J (4) 2000 J

117. Match the following :

(a) 1 Acre (i) 3.28 feet

(b) 1 Hectare (ii) 10.76 Square

feet

(c) 1 Meter (iii) 4047 m2

(d) 1 Square meter (iv) 2.47 Acre

(1) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(3) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(4) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
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118. jäœ eh£oš gw¤jš éisah£o‰F
V‰w kiy¢ rçÎfis¡ bfh©LŸs
kht£l« :

(1) ntÿ®

(2) nry«

(3) Â©L¡fš

(4) nfha«ò¤ö®

119.  v‹w F¿pL F¿¥gJ :

(1) ä‹fy«

(2) bjhLrhé

(3) ä‹fy mL¡F

(4) Ïiz¥ò¡ f«Ã

120. 408C –I ~ghu‹Ë£ msÅ£o‰F
kh‰wÎ«.

(1) 1028F (2) 1048F

(3) 1068F (4) 1008F

121. rçahd Ïizia¤ nj®ªbjL¡
fÎ«.

(1) Fé Mo - M«òy‹°

(2) Fê Mo - Nça mL¥ò

(3) ãô£l‹ t£L - thfd§fë‹
    Kf¥ò és¡F

(4) Ã‹ndh¡F Mo- ãw¥Ãçif

118. The district with gentle slopes which is best

suited for para gliding :

(1) Vellore

(2) Salem

(3) Dindigul

(4) Coimbatore

119.  this symbol denotes :

(1) Cell

(2) Switch

(3) Battery

(4) Connecting wire

120. Convert 408C into Fahrenheit :

(1) 1028F (2) 1048F

(3) 1068F (4) 1008F

121. Choose the correct pair :

(1) Concave mirror - Ambulance

(2) Convex mirror - Solar cooker

(3) Newton's disc - Car head lamps

(4) Rear view mirror - Dispersion

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


11

19IIVIIICODE

122. cnyhf¥ g©òfisÍ«,  mnyhf¥
g©òfisÍ« bg‰WŸs jåk§fŸ
__________ vd miH¡f¥gL»‹wd.

(1) cnyhf¡ fyit

(2) cnyhf¥ nghèfŸ

(3) nr®k§fŸ

(4) cnyhféaš

123. td°gÂ beŒ jahç¤jèš
éidô¡»ahf brašgLtJ
__________.

(1) cnyhf ÏU«ò

(2) <°£

(3) ã¡fš

(4) iA£u#‹ ršigL

124. __________ cl‹ fç¤öŸ nr®¤J
bto¥bghUŸ jahç¡f¥gL»wJ.

(1) ie£u#‹

(2) iA£nuh fh®g‹

(3) M¡ì#‹

(4) iA£u#‹

125. cy® gå¡f£o v‹gJ :

(1) ÂlãiyæYŸs M¡ì#‹

(2) ÂlãiyæYŸs fh®g‹-il-
M¡i[L

(3) ÂlãiyæYŸs ie£u#‹

(4) ÂlãiyæYŸs iA£u#‹

122. The elements which exhibits the properties

of metal and non-metals are called

__________.

(1) Alloys

(2) Metalloids

(3) Compounds

(4) Metallurgy

123. __________ is used as a catalyst in the

preparation of Vanaspathi ghee.

(1) Cast Iron

(2) Yeast

(3) Nickel

(4) Hydrogen Sulphide

124. __________ when mixed with powdered

charcoal is used as an explosive.

(1) Nitrogen

(2) Hydrocarbon

(3) Oxygen

(4) Hydrogen

125. Dry ice is :

(1) solid form of oxygen

(2) solid form of carbon-di-oxide

(3) solid form of nitrogen

(4) solid form of hydrogen
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126. nfnjhL fÂ®fë‹ g©òfŸ F¿¤j
jtwhd T‰Wfis¡ f©LÃo¡fÎ«.

(a) nfnjhL fÂ®fŸ, ãiw k‰W«
Ïa¡f M‰wy‰w JfŸfshš
cUth¡f¥g£lit.

(b) nfnjhL fÂ®fŸ ne®nfh£oš
gaâ¡»‹wd.

(c) nfnjhL fÂ®fŸ ne®ä‹
Rikia¥ bg‰WŸsd.

(d) nfnjhL fÂ®fŸ ä‹òy« k‰W«
fhªj¥òy¤jhš éy¡f-

kil»‹wd.

(1) (a) k‰W« (b)

(2) (b) k‰W« (c)

(3) (a) k‰W« (c)

(4) (b), (c) k‰W« (d)

127. khwh é»j éÂia¡ T¿at® :

(1) n#.n#. jh«r‹

(2) ythŒÁa®

(3) #h‹ lhšl‹

(4) n#hr¥ Ãbus°£

128. ntÂæaš kh‰w« ãfGtJ :

(1) ghš jæuhf khWtJ

(2) F¢Á I° cUFjš

(3) gofkh¡Fjš

(4) xU fh»j¤ij¤ J©L-
fsh¡Fjš

126. Pick out the wrong statements about the

properties of cathode rays.

(a) Cathode rays are made up of

particles which do not have mass

and kinetic energy.

(b) Cathode rays travel in straight line.

(c) Cathode rays are positively charged

particles.

(d) Cathode rays are deflected by both

electric and magnetic fields.

(1) (a) and (b)

(2) (b) and (c)

(3) (a) and (c)

(4) (b), (c) and (d)

127. Law of Constant Proportion was proposed

by :

(1) J.J. Thomson

(2) Lavoisier

(3) John Dalton

(4) Joseph Proust

128. Chemical change takes place in

_________.

(1) curdling of milk

(2) melting of ice stick

(3) crystallization

(4) paper made into bits of paper
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129. bghU¤Jf.

(a) vW«ò (i) fçk
mäy«

(b) jhtu§fŸ (ii) lhh¦lhç¡
k‰W« mäy«
éy§FfŸ

(c) Âuh£ir (iii) yh¡o¡
mäy«

(d) ghš (iv) ghh¦ä¡
mäy«

(1) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

(2) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(3) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

130. iA£uhŠíah nk¡nuhigyh
fhu¤j‹ikÍŸs k©âš
__________ t©z¤Âš ó¡F«.

(1)  Cjh (2) Úy«

(3) btŸis (4) kŠrŸ

131. Âut¥ bg£nuhèa thÍ v‹gJ
__________.

(1) M¡ì#‹ 35% ònuh¥ng‹ 65%

(2) Û¤nj‹ 45% Ãô£nl‹ 55%

(3) ònuh¥ng‹ 15% Ãô£nl‹ 85%

(4) M¡ì#‹ 25% iA£u#‹ 75%

129. Match :

(a) Ant (i) Organic acid

(b) Plants and (ii) Tartaric acid

Animals

(c) Grapes (iii) Lactic acid

(d) Milk (iv) Formic acid

(1) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

(2) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(3) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

130. In acidic soil, Hydrangea macrophylla

blossoms in __________ colour.

(1) Pink (2) Blue

(3) White (4) Yellow

131. Liquid Petroleum Gas is ___________.

(1) Oxygen 35% Propane 65%

(2) Methane 45% Butane 55%

(3) Propane 15% Butane 85%

(4) Oxygen 25% Hydrogen 75%

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


14

19IIVIIICODE

132. R‰W¢NHiy¥ ghÂ¡fhj thÍ
__________.

(1) Ïa‰if thÍ

(2) fh®g‹il M¡i[L thÍ

(3) fh®g‹ nkhdh¡irL thÍ

(4) ie£u#‹ thÍ

133. bghU¤Jf.

(a) gªJ tot (i) ngÁšy°
gh¡Oçah Mª¤uhÁ°

(b) RUŸ tot (ii) é¥çnah
gh¡Oçah fhyuh

(c) fkh tot (iii) °£bu¥nlh
gh¡Oçah fh¡f°

ãnkhåah

(d) nfhš tot (iv) bAè¡
gh¡Oçah nfhgh¡l®

ignyhç

(1) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(2) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(3) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(4) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

134. kåjå‹ Flèš thG« v.nfhiy
gh¡Oça« __________ k‰W«
__________ c‰g¤Â brŒtÂš
cjÎ»wJ.

(1) it£lä‹ A k‰W« E

(2) it£lä‹ B k‰W« C

(3) it£lä‹ K k‰W« B

T£L¥bghUŸfŸ

(4) it£lä‹ A k‰W« D

132. The gas which does not affect

environment :

(1) Natural gas

(2) Carbon-di-oxide

(3) Carbon monoxide

(4) Nitrogen

133. Match the following :

(a) Ball shaped (i) Bacillus

bacteria anthracis

(b) Spiral shaped (ii) Vibrio

bacteria cholera

(c) Comma shaped (iii) Streptococcus

bacteria pneumoniae

(d) Rod shaped (iv) Helicobacter

bacteria pylori

(1) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(2) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(3) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(4) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

134. E.Coli bacteria in human intestine helps

in synthesizing __________ and

__________.

(1) Vit. A and Vit. E

(2) Vit. B and Vit. C

(3) Vit. K and Vit. B Complex

(4) Vit. A and Vit. D

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


15

19IIVIIICODE

135. ghÁfis F¿¤j jtwhd

T‰Wfis¤ nj®ªbjL¡fÎ«.

(a) jhtu äjit E©Qæ®fŸ
vd¥gL« ghÁfŸ äfÎ«
E©âait k‰W« Úç‹
nk‰gu¥Ãš äjªJ¡
bfh©oU¥git.

(b) gG¥ò¥ ghÁfŸ òuj¤ij c‰g¤Â
brŒa cjÎ»‹wd.

(c) Át¥ò¥ ghÁfëèUªJ
vL¡f¥gLtJ mf® mf®
vd¥gL»wJ. ÏJ
MŒtf§fëš ts®¢Á
C¡»ahf és§F»wJ.

(d) Úy¥g¢ir¥ ghÁfëèUªJ
mnaho‹ bgw¥gL»wJ

(1) (b) k‰W« (d) k£L«

(2) (a) k‰W« (c) k£L«

(3) (b) k‰W« (c) k£L«

(4) (c) k‰W« (d) k£L«

136. ‘jhtu cyf¤Â‹ ÏU thœéfŸ’ vd
miH¡f¥gLtJ vJ?

(1) blçnlh~ig£LfŸ

(2) Ãiunah~ig£LfŸ

(3) í«ndh°bg®«fŸ

(4) MŠÁnah°bg®«fŸ

137. ‘f©â‹ bt©ik gFÂ’ vd
miH¡f¥gLtJ :

(1) ÃôÃš (2) Iç°

(3) °bfÄuh (4) fh®åah

135. Pick out the wrong statements about

Algae.

(a) Phytoplankton are algae which are

very minute and floats on water

surface.

(b) Brown algae are used to produce

protein.

(c) Agar Agar extracted from red algae

are used to prepare growth medium

in Laboratories.

(d) Iodine is obtained by blue green

algae.

(1) (b) and (d) only

(2) (a) and (c) only

(3) (b) and (c) only

(4) (c) and (d) only

136. Which is called the ‘Amphibians of the

plant kingdom’ ?

(1) Pteridophytes

(2) Bryophytes

(3) Gymnosperms

(4) Angiosperms

137. ‘White of the eye’ is called :

(1) Pupil (2) Iris

(3) Sclera (4) Cornea
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138. bghU¤Jf.

 (a) Ándhéaš (i) Úskhd m¢ir
Âut« k£Lnk g‰¿

RHy mDkÂ¡
»wJ

 (b) Ñš _£L (ii) vY«òl‹
vY«ig
Ïiz¡»wJ

 (c) RHy¢R _£L (iii) _£Lfis
tis¡fÎ«
neuh¡fÎ«
k£Lnk
mDkÂ¡»wJ

 (d) jireh® (iv) _£LfëYŸs
FW¤bjY«ò
fS¡F
Ïilæyhd
cuhŒit¡
Fiw¡»wJ

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(2) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(3) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(4) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

139. jtwhd Ïizia¤ nj®ªbjL¡
fÎ« :

(1) ~Õk® - tèikahd vY«ò

(2) fhš éušfŸ - lh®ršfŸ

(3) KH§fhš - g£blšyh

(4) °nlg°  - nyrhd vY«ò

138. Match the following :

(a) Synovial (i) Allows rotation

fluid about its

longitudinal axis

(b) Hinge (ii) Connect bone to

joint bone

(c) Pivot (iii) Allows only

joint bending and

straightening of

joints

(d) Ligament (iv) Reduce friction

between articular

cartilage in the

joint

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(2) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(3) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(4) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

139. Choose the incorrect pair :

(1) Femur - Strongest bone

(2) Toes   - Tarsals

(3) Knee   - Patella

(4) Stapes - Lightest bone
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140. éy§Ffë‹ njhèš ÏUªJ
bgw¥gL« jo¤j cnuhk§fŸ
________ Mš MdJ.

(1) bfhG¥ò

(2) òuj«

(3) fh®nghiA£nu£

(4) bgh£lhÁa«

141. jäœeh£o‹ khãy éy§F ________.

(1) tiuahL

(2) br«k¿ ML

(3) btŸshL

(4) yhkh

142. bghU¤Jf.

(a) ö© (i) th©lh
nt®fŸ

(b) K©L (ii) Myku«
nt®fŸ

(c) x£L©â (iii) fU«ò
nt®fŸ

(d) bjh‰W (iv) f°F£lh
nt®fŸ

(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(4) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

140. The thick coat of hairs obtained from

animal are made up of __________.

(1) Fat

(2) Protein

(3) Carbohydrates

(4) Potassium

141. The state animal of Tamil Nadu ________.

(1) Varaiadu

(2) Sheep

(3) Goat

(4) Lama

142. Match :

(a) Prop Roots (i) Vanda

(b) Stilt Roots (ii) Banyan

(c) Parasitic Roots (iii) Sugarcane

(d) Epiphytic Roots (iv) Cuscuta

(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(4) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
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143. T‰W : be¥g‹jìš, Ïiy
KGikahf khWghL
milªJ FLit
tot¤Âš ÏU¡F«.

fhuz« : jhtu¤Â‹
ghJfh¥Ã‰fhf
Ï«khWghL cŸsJ.

(1) T‰W k‰W« fhuz« rç.

(2) T‰W k‰W« fhuz« jtW.

(3) T‰W rç, Mdhš fhuz«

T‰iw és¡féšiy.

(4) T‰W rç, fhuz« T‰iw
és¡F»wJ.

144. gh°oa® Kiwæš ghiy F¿¥Ã£l
neu« tiu fhŒ¢r vL¤J¡bfhŸS«
bt¥gãiy __________.

(1) 558C Kjš 608C

(2) 708C Kjš 758C

(3) 808C Kjš 858C

(4) 608C Kjš 658C

145. FS¡nfh°+cæ®të → ?

(1) fçaäythÍ

(2) fçaäy thÍ+Ú®

(3) fçaäythÍ+Ú®+M‰wš

(4) fçaäythÍ+M‰wš

143. Assertion : In Nepenthes, the leaves

are modified into pitcher.

Reason : This modification is due

to its protectiveness.

(1) Assertion and Reason are correct.

(2) Assertion and Reason are wrong.

(3) Assertion is correct but Reason does

not explain Assertion.

(4) Assertion is correct and Reason

explains Assertion.

144. During Pasteurization, milk is heated at a

temperature of __________ for sometime.

(1) 558C to 608C

(2) 708C to 758C

(3) 808C to 858C

(4) 608C to 658C

145. Glucose+Oxygen →  ?

(1) Carbondioxide

(2) Carbondioxide+Water

(3) Carbondioxide+Water+energy

(4) Carbondioxide+energy
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146. gšyt® fhy nfhæšfëš Ïu©lh«
tif :

(1) x‰iw¡fš Ïuj§fŸ

(2) Ïuh#Á«k‹ tif

(3) f£Lkhd nfhæšfŸ

(4) ghiw¡FilÎ nfhæšfŸ

147. l§fh v‹w btŸë ehza« k‰W«
ílhš v‹w br«ò ehza¤Âid
btëæ£lt® __________.

(1) ÏšJäZ

(2) FJòÔ‹ Ibg¡

(3) ghšg‹

(4) Ršjhdh ÏuÁah

148. __________ v‹gtç‹ kfŸ uÁah
Ršjhdh.

(1) ÏšJäZ

(2) KfkJ nfhç

(3) KfkJ fíå

(4) FJòÔ‹ Ibg¡

146. The Second Style of temple of Pallavas :

(1) Monolithic Rathas

(2) Rajasimha Style

(3) Structural Style

(4) Rock cut Temple

147. Silver coin Tanka and Copper coin Jital

was issued by :

(1) Iltumish

(2) Qutub-ud-din-Aibak

(3) Balban

(4) Sultana Raziya

148. Sultana Raziya was the daughter of

__________.

(1) Iltumish

(2) Mohammed Ghori

(3) Mohammed Ghazni

(4) Qutub-ud-din-Aibak

\‰P AÔÂ¯À / SOCIAL SCIENCE
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149. Kjyh« jbuŒ‹ ngh® eilbg‰w
M©L _________.

(1) 1193 ».Ã. (2) 1191 ».Ã.

(3) 1192 ».Ã. (4) 1198 ».Ã.

150. ».Ã. 1565 -š eilbg‰w jiy¡
nfh£il¥ nghçš njh‰fo¡
f¥g£lt® :

(1) Açfu®

(2) ò¡f®

(3) »UZznjtuha®

(4) uhkuha®

151. ÏªÂa njÁa Mtz¡fh¥gf«
mikªJŸs Ïl« :

(1) òJ Âšè (2) K«ig

(3) bfhšf¤jh (4) br‹id

152. vªj kÂ¥Ãyhd %ghŒ neh£oid
Kj‹Kjyhf ÏªÂa çr®› t§»
btëæ£lJ?

(1) xU %ghŒ neh£L

(2) Ïu©L %ghŒ neh£L

(3) IªJ %ghŒ neh£L

(4) g¤J %ghŒ neh£L

149. First Battle of Tarain was fought in the year

_________.

(1) 1193 AD (2) 1191 AD

(3) 1192 AD (4) 1198 AD

150. ________ was defeated in the war of

Talikota in  1565 AD.

(1) Harihara

(2) Bukka

(3) Krishnadeveraya

(4) Ramaraya

151. The National Archives of India is located

at _______.

(1) New Delhi (2) Mumbai

(3) Kolkatta (4) Chennai

152. Under what denomination did RBI issue

the first paper currency ?

(1) One Rupee note

(2) Two Rupee note

(3) Five Rupee note

(4) Ten Rupee note
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153. bghU¤Jf.

(a) ÃshÁ¥ ngh® (i) 1760

(b) g¡rh® ngh® (ii) 1757

(c) tªjthÁ¥ ngh® (iii) 1751

(d) M‰fh£L¥ ngh® (iv) 1764

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

(4) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

154. ÏªÂa M£Á¥gâ r£l« Ïa‰w¥ g£l
M©L :

(1) 1862 (2) 1861

(3) 1859 (4) 1857

155. 1928 -M« M©L, g®njhè
étrhæfŸ ___________ jiyikæš
j§fŸ vÂ®¥Ãid¤ bjçé¤jd®.

(1) nfõ¥ rªÂuuhŒ

(2) tšyghŒ g£nlš

(3) fhªÂí

(4) éZQ Ã°th°

156. __________ M« M©o‹ r® rh®y°
c£° fšé m¿¡if, ÏªÂahéš
M§»y¡ fšéæ‹ “kfhrhrd«”

v‹W miH¡f¥ gL»wJ.

(1) 1854 (2) 1856

(3) 1864 (4) 1866

153. Match the following :

(a) Battle of Plassey (i) 1760

(b) Battle of Buxar (ii) 1757

(c) Battle of Wandiwash (iii) 1751

(d) Battle of Arcot (iv) 1764

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

(4) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

154. The Indian Civil Services Act was passed

in the year :

(1) 1862 (2) 1861

(3) 1859 (4) 1857

155. In 1928 the peasants of Bardoli started

their agitation under the leadership of

_____________.

(1) Keshab Chandra Roy

(2) Vallabhbhai Patel

(3) Gandhiji

(4) Bishnu Biswas

156. Sir Charles Wood’s Despatch of

____________ is called the ‘Magna Carta’

of English education in India.

(1) 1854 (2) 1856

(3) 1864 (4) 1866
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157. fšé cçik¢ r£l« eilKiw¥
gL¤j¥g£l M©L :

(1) 2008 (2) 2009

(3) 2010 (4) 2011

158. br‹id gšfiy¡ fHf« ãWt¥g£l
M©L :

(1) 1857 (2) 1867

(3) 1853 (4) 1855

159. _________ M« M©L #h«bõ£óçš
TISCO mik¡f¥ g£lJ.

(1) 1907 (2) 1911

(3) 1912 (4) 1870

160. ÏªÂahéš cŸs xnu xU brašgL«
vçkiy cŸs Ïl« :

(1) AthŒ ÔÎ

(2) ghu‹ ÔÎ

(3) eh®f©l« ÔÎ

(4) I°yhªJ

161. ghiytd¢ NHèš fh‰¿dhš
mç¡f¥g£L Ú©l kiy¤bjhl®
nghy fhz¥gL« ãy¤njh‰w«
____________.

(1) Ï‹ršg®¡FfŸ

(2) Nf‹

(3) nkrh

(4) ah®lh§

157. Right to Education (RTE) Act was

implemented in the year :

(1) 2008 (2) 2009

(3) 2010 (4) 2011

158. Madras University was founded in :

(1) 1857 (2) 1867

(3) 1853 (4) 1855

159. TISCO was set-up in _________ at

Jamshedpur.

(1) 1907 (2) 1911

(3) 1912 (4) 1870

160. The only active volcano in India is :

(1) Hawai island

(2) Barren island

(3) Narcondam island

(4) Ice land

161. ____________ is a wind-abraded ridge

found in a desert environment.

(1) Inselbergs

(2) Zengen

(3) Mesa

(4) Yardang
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162. v¡n[h°Ãa® mL¡»š fhz¥ gL«
thÍ¡fŸ ___________ , ___________.

(1) iA£u#‹ k‰W« Ëèa«

(2) iA£u#‹ k‰W« M¡ì#‹

(3) Ëèa« k‰W« M¡ì#‹

(4) iA£u#‹ k‰W« ie£u#‹

163. ãyeL¡f¤Â‹nghJ nk‰bfhŸs
nt©oa elto¡iffŸ F¿¤j
jtwhd T‰W¡fis¤ nj®ª-
bjL¡fÎ«.

(a) ä‹ f«g§fŸ, ku«,
f£ll§fëèUªJ éy»
ÏU¡fÎ«.

(b) Ô ég¤ij jé®¡f vçthÍ
mL¥ò, bkGFt®¤ÂfŸ k‰W«
és¡Ffis miz¡f
nt©L«.

(c) go¡f£LfS¡F gÂyhf ä‹
ö¡»ia ga‹gL¤j nt©L«.

(d) nk«ghy§fŸ k‰W« Ru§f¥
ghijfëš jŠr« mila
nt©L«.

(1) (a), (b) k‰W« (c)

(2) (b), (c) k‰W« (d)

(3) (a) k‰W« (b)

(4) (c) k‰W« (d)

162. Exosphere consists gases of ___________ ,

___________.

(1) Hydrogen and Helium

(2) Hydrogen and Oxygen

(3) Helium and Oxygen

(4) Hydrogen and Nitrogen

163. Find the incorrect statements.

The steps to be taken during earthquake.

(a) Stay away from electric poles, trees,

buildings.

(b) Switch off gas stoves, put off candles

or lamps to prevent fire.

(c) Use lift instead of staircase.

(d) Take shelter under flyover or under

passes.

(1) (a), (b) and (c)

(2) (b), (c) and (d)

(3) (a) and (b)

(4) (c) and (d)
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164. bghU¤Jf.

(a) gÁÃ¡ (i) Ú©l ‘S’

nguhê tot
mik¥ò

(b) m£yh©o¡ (ii) bj‹
nguhê nguhê

(c) m©lh®ofh (iii) t£l tot
nguhê mik¥ò

(d) M®o¡ (iv) K¡nfhz
nguhê tot

mik¥ò

(1) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(2) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(3) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(4) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

165. bghU¤Jf.

(a) goÎ¥ (i) moahH¥
ghiwfŸ ghiwfŸ

(b) Ô¥ghiwfŸ (ii) mL¡F¥
ghiwfŸ

(c) òqlhå¡ (iii) Fiwªj
ghiwfŸ MH¤Âš

cŸs
ghiwfŸ

(d) iA¥ghigrš (iv) jhŒ¥
ghiwfŸ ghiwfŸ

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(2) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(3) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(4) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

164. Match the following :

(a) Pacific Ocean (i) Elongated ‘S’

Shaped

(b) Atlantic Ocean (ii) Southern

Ocean

(c) Antartic Ocean (iii) Circular

Shaped

(d) Arctic Ocean (iv) Triangular

Shaped

(1) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(2) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(3) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(4) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

165. Match the following :

(a) Sedimentary (i) Deep seated

Rocks rocks

(b) Igneous Rocks (ii) Stratified

rocks

(c) Plutonic Rocks (iii) Shallow

depth rocks

(d) Hypabysal (iv) Parent rocks

Rocks

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(2) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(3) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(4) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


25

19IIVIIICODE

166. bghUªjhj Ïizia¤ nj®ª-
bjL¡fÎ«.

(1) ruis k© - rzš

(2) fçrš k© - gU¤Â

(3) t©lš k© - beš

(4) br«k© - Âid¥
gæ®fŸ

167. rk Nça btë¢r¡nfhL cŸs
Ïl§fŸ _________.

(1) InrhiA£°

(2) Inrh¡iu«

(3) Inrhbfš

(4) Ibršnyhgh®

168. flf nuif¡F« kfu nuif¡F«
Ïil¥g£l gFÂ ___________

vd¥gL«.

(1) ciwgå k©ly«

(2) äj bt¥g k©ly«

(3) tw©l k©ly«

(4) bt¥g k©ly«

169. ____________ v‹w fUé fh‰¿‹
ntf¤ij msél ga‹gL»wJ.

(1) fh‰W khå

(2) Ãnahngh®L msit

(3) iA¡nuh Û£l®

(4) fh‰wG¤jkhå

166. Find the incorrect pair :

(1) Laterite soil - Jute

(2) Black soil - Cotton

(3) Alluvial soil - Rice

(4) Red soil - Millet

167. Places having equal sunshine is called

_________.

(1) Isohyet

(2) Isocryme

(3) Isohel

(4) Isollobar

168. ___________ is a region between the

Tropic of Cancer and the Tropic of

Capricorn.

(1) Frigid Zone

(2) Temperate Zone

(3) Arid Zone

(4) Torrid Zone

169. ____________ is used for measuring wind

speed.

(1) Wind vane

(2) Beaufort scale

(3) Hygrometer

(4) Barometer
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170. T‰W : Ú® JëfŸ òéæ‹
nk‰gu¥Ãš Fë®ªj
bghUŸfë‹ ÛJ
gL«bghGJ gå
cUth»wJ.

fhuz« : bghU£fë‹ bt¥g-
ãiy gåãiyæ‹
bt¥g ãiyiaél
mÂfkhf ÏU¡F«
nghJ cUth»wJ.

(1) T‰W k‰W« fhuz« Ïu©L«
rç.

(2) T‰W k‰W« fhuz« Ïu©L«
jtW.

(3) T‰W rç Mdhš fhuz«

T‰iw és¡féšiy.

(4) T‰W rç k‰W« fhuz« T‰iw
és¡F»wJ.

171. Ú®¤JëfS«, 5 ä.Û. é£l¤Â‰F nkš
cŸs gå¤JëfS« fyªJ
fhz¥gL« bghêé‰F __________
v‹W bga®.

(1) My§f£o kiH

(2) gå

(3) kiH

(4) fš kiH

170. Assertion (A) : Dew is a water droplet

formed by the

condensation of water

vapour on a relatively

cold surface of an object.

Reason (R) : It is formed when the

temperature of an object

drops above the dew

point temperature.

(1) Both (A) and (R) are true.

(2) Both (A) and (R) are false.

(3) (A) is correct but (R) does not explain

(A).

(4) (A) is correct and (R) explains (A).

171. The Precipitation which takes place in the

form of mixture of water droplets and

5 mm diameter of tiny particles of ice is

called __________.

(1) Hail

(2) Snow

(3) Rain

(4) Sleet
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172. jtwhd T‰iw nj®ªbjL¡fÎ«.

efukakhjè‹ éisÎfŸ :

(1) éiuthf efukakh¡fyhš
Foir¥ gFÂfŸ mÂf mséš
cUth»‹wd.

(2) mÂf k¡fŸ beçrš, Rfhjhuk‰w
R‰W¥òw NHY¡F
têtF¡»wJ.

(3) ef®òw k‰W« cŸsh£Á
mik¥òfS¡F F¥igfis
mf‰WtJ xU rthyhd
gâahf cŸsJ.

(4) ÏU k‰W« eh‹F r¡fu
thfd§fë‹ v©â¡if
mÂfç¥gjhš fh‰W khriltJ
jé®¡f¥gL»wJ.

173. bghUªjhjij¤ nj®ªbjL¡fÎ«.

(1) F©Lbto¥ò

(2) vçkiy bto¥ò

(3) ãymÂ®Î

(4) tw£Á

174. khãy§fsitæ‹ bkh¤j
cW¥Ãd®fëš kiwKf¤ nj®jš
_y« nj®ªbjL¡f¥gL« cW¥Ãd®-
fë‹ v©â¡if :

(1) 138 (2) 228

(3) 238 (4) 234

172. Choose the incorrect statement.

Consequences of Urbanisation :

(1) Rapid rate of urbanization results in

the development of slums.

(2) Over crowding leads to unhealthy

environment.

(3) Removal of garbage is a challenge for

urban local bodies.

(4) Increase in the number of two and

four wheelers avoids air pollution.

173. Find the odd one out :

(1) Explosion

(2) Volcanic eruption

(3) Earthquake

(4) Drought

174. The number of members in Rajya Sabha

elected indirectly is :

(1) 138 (2) 228

(3) 238 (4) 234

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


28

19IIVIIICODE

175. njÁa Ñj¤ij¥ ghL«, Ïir¡F« fhy
neu« ________ édhofŸ MF«.

(1) 57 (2) 42

(3) 51 (4) 52

176. jtwhd T‰iw¤ nj®ªbjL¡ fÎ«.

MSeç‹ mÂfhu« k‰W« gâfŸ :

(1) MSe®, Kjyik¢riuÍ«
Vida mik¢r®fisÍ«
ãaä¡»wh®.

(2) khãy¤ÂYŸs gšfiy¡
fHf§fë‹ ntªjuhf MSe®
brašgL»wh®.

(3) r£lk‹w¤Â‰F xU M§»nyh
ÏªÂa cW¥Ãdiu ãakd«
brŒÍ« mÂfhu¤ij¥
bg‰WŸsh®.

(4) khãy r£l nkyit¡F

m¿éaš, Ïy¡»a«, fiy, r_f
nrit, T£LwÎ Ïa¡f« M»a
Jiwfëš Áw¥ghf g§fh‰¿a

m¿P®fëš 
5

6
  msé‰F

ÃuÂãÂ¤Jt mo¥gilæš
ãaä¡»wh®.

175. The time duration for singing or playing

on National Anthem is ________ seconds.

(1) 57 (2) 42

(3) 51 (4) 52

176. Choose the incorrect statement.

Powers and Functions of Governor :

(1) He appoints the Chief Minister and

Council of Ministers.

(2) He acts as the Chancellor of State

Universities.

(3) He may nominate one member from

Anglo Indian Community to

Legislative Assembly.

(4) He may also nominate 
5

6
 members

of the Legislative Council from

among persons who are expert in the

field of science, literature, arts, social

service and co-operative movements.
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177. rçahd T‰Wfis¤ nj®ªbjL¡fÎ« :

ca® ÚÂk‹w¤Â‹ ÚÂgÂ Ã‹tU«
jFÂfis f£lha« bfh©oU¤jš
nt©L«.

(a) ÏªÂa¡ Fokfdhf ÏU¤jš
nt©L«.

(b) ÏªÂahéš Xuh©L fhy«
ÚÂ¤Jiw mYtyuhf gâah‰¿
ÏU¡f nt©L«.

(c) x‹W mšyJ mj‰F nk‰g£l
ca®ÚÂ k‹w§fëš
tH¡FiuPuhf Fiwªj g£r«
10 M©LfŸ mDgt«
bg‰¿U¤jš nt©L«.

(d) taJ tu«ò 35-¡FŸ ÏU¤jš
nt©L«.

(1) (a) k‰W« (b)

(2) (b) k‰W« (c)

(3) (c) k‰W« (d)

(4) (a) k‰W« (c)

177. Pick out the correct statements.

A Judge of High Court must have the

following qualifications :

(a) He must be a citizen of India.

(b) He must have at least one year of

experience as head of the judicial

office.

(c) He must have at least ten years

experience as an advocate in one or

more High Courts.

(d) Age limit is below 35 years.

(1) (a) and (b)

(2) (b) and (c)

(3) (c) and (d)

(4) (a) and (c)
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178. xU eh£oš vªjéj jilÍä‹¿
ãuªjukhf tÁ¥gj‰F« gâòçtj‰-
F« cçik bgW« mªãa®___________
vd¥gL»wh®.

(1) Fokf‹

(2) mªãa®

(3) Fona¿at®

(4) ÏªÂahéš tÁ¡F« btë-
eh£L¡ FoÍçik¥ bg‰wt®

179. ÃçÎ 26 F¿¥gJ :

(1) bghJ ntiythŒ¥Ãš rkkhd
thŒ¥gë¤jš.

(2) rka étfhu§fis ã®t»¡F«
RjªÂu«.

(3) muR cjé bgW« fšé
ãWtd§fëš ghFghL fh£l
jil.

(4) Áy fšé ãWtd§fëš rka
têghL ãfœ¢Áfëš fyªJ
bfhŸshkš ÏU¡F« cçik.

180. be»ê¥ gz« v‹gJ :

(1) Ïiza t§»

(2) ä‹dQ gz«

(3) g‰W m£il

(4) ä‹ t§»

- o O o -

178. ___________ refers to alien who has been

granted the right to reside and work

permanently without restriction in a

particular country.

(1) Citizen

(2) Lien

(3) Immigrant

(4) Overseas citizenship

179. Article 26 deals with :

(1) Equality of opportunity in public

employment.

(2) Freedom to manage religious affairs.

(3) Ban on discrimination in state - aided

educational institution.

(4) Right to non-participation in

religious worship in certain

educational institution.

180. Plastic money is :

(1) Net Banking

(2) E-Money

(3) Debit Card

(4) E-Banking

- o O o -
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FOR ROUGH USE (Not for evaluation)

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


32

19IIVIIICODE

wºÄ Põq® £Sv (©v¨¥miØS Em£mhuÀ»)

FOR ROUGH USE (Not for evaluation)

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

